20244F £ JSCA = B MUk BF 2=k ik g b R

2 ZHRZWG AR—Y O 5 Kk (25m) 1/8
HIH ;2024954 12H (H)
No.28 5B+ 100m BHH BALL—RRE
< 10gUTFT >
IEfr K 4 R FHE KK B M
1 B A kv 7SC /N5 11/ 1 1:07.55 10#% ( 0.66)
2 KB AR Li_ﬁﬂ?é%?% /N5 9/ 3 1:08.31 9k ( 0.72)
3 B YiEE T 8325'8[%% /N5 10/ 7 1:08.66 9k  ( 0.56)
4 vE)l - FHiE) é?%g S S /N6 6/ 6 1:15.27 7% ( 0.80)
5 ZAH G J Sgeéoél% /N5 3/ 7 1:16.95 Tk ( 0.68)
6 G %;3‘&625 S /N3 5/8 1:21.65 9% ( 0.35)
TR EH K y3;°9§ C /N5 5/ 7 1:21.83 5k ( 0.81)
8 [LEE HH Jéﬁﬁ%%‘ /NG 3/ 8 1:26.10 4% (0. 85)
9 Wifn @ﬂ;ﬁOS'Sg /N6 3/ 2 1:29.30 21k (0.74)
10 HARL 2 i ($74£f6§ SS /M 2/ 5 1:39.68 Uk (0.91)
11 AR HE «%74;712 S S ! 1/3 1:44.12 ( 0.89)
12 lifE 2 (;%742%5@ S S /N3 2/ 3 1:48.99 2% ( 0.67)
13 1k iE «\“XSS'\‘“Bg S /N5 1/ 6 1:54.89 ( 0.83)
OPN iThE  &F J SB:SS?L?:E /N5 11/ 8 1:06.91 10#%  ( 0.68)
OPN /ML —Ffi mféﬁ?ﬁl /N5 12/ 7 1:07.21 10#% ( 0.68)
OPN ¥ —FH &jyfzs'zg NS 10/ 1 1:08.50 9k (0.71)
OPN /INEF  HIA J 5325'8&& N 7/3  1:11.24 9k ( 0.59)
OPN JfE  H J SB?)S%‘:‘UJ /N5 8/ 7 1:11.79 8tk ( 0.75)
OPN H1HEL  HBi t‘\}?lj\ﬂaz /N5 6/ 3 1:12.39 8k ( 0.61)
OPN KH FlE T SMS'%;FMJ N 8/ 1 1:12.49 8tk ( 0.70)
OPN #& -3 t“jgﬁgrm /N5 6/ 5 1:13.52 8k ( 0.76)
OPN /K% ARk t“~f§é<9,%m@‘z /N5 8/ 8 1:14.46 Tk (0.76)
OPN PNJII i *ﬁzﬁgg% ! 7/ 8 1:15.04 8% ( 0.60)
OPN el Ry *95133&6; S /N6 5/3 1:16.12 % (0.76)
OPN i Bk *ﬁzj;(as'?é /NG 7/ 1 1:18.15 *FH) 6k ( 0.65)
OPN [ Jt/E *5(%365'03 /N6 6/ 8 1:19.89 6% ( 0.68)
OPN % Afamk *ﬁzjigggg /N 5/ 4 1:20.33 7k (0.63)
OPN JbAf  HE=} *ﬁzji%s'ég /N6 4/ 2 1:20.78 5% ( 0.68)
OPN PrPy PRk J Szzé%m /N5 4/ 1 1:21.88 5% ( 0.79)
| H7JHEF . 5H12H 17:00
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2 ZHRZWG AR—Y O 5 Kk (25m) 2/8
HIH ;2024954 12H (H)

No.28 5B+ 100m BHH BALL—RRE

< 10gUTFT >

B K 4 R SHE KB B M

OPN B  1E® KL&HI /N4 2/ 6 1:24.44 6%k ( 0.66)

OPN T Br= %kjggéig ! 3/ 6 1:25.03 6% ( 0.67)

OPN {53+ K5 RS/;OéOﬁ—~7S /N4 3/ 3 1:25.21 6% ( 0.73)

OPN 74 A& t“joFéng /N6 1/ 4 1:29.39 2% ( 0.86)

OPN #iiFH BEA KL%%EI# /N4 2/ 4 1:36.09 2% ( 0.69)

OPN PN #5HG J Syézgwu /NG 1/5 1:37.68 ( 0.85)

OPN K% BR{= *ﬁzj;(%s'gg /NG 9/ 5 %41&10. 2 (C— )

No.28 B+ 100m BHF A LL—RRE

L 1M~12F >

g K 4 B FHE KB M
1 #)IEHE=F aE/SS Wl 16/ 7 1:04.83 8tk (0.71)
2 BH U J Sgls'?é}ﬁ/i /N6 15/ 5 1:05. 81 9% ( 0.58)
3 I B (;%73%712 S S /N6 13/ 1 1:06.96 8tk ( 0.80)
4 Ba EAE J Sglé;z\ﬁ)i /N6 10/ 3 1:07.27 % ( 0.88)
5 4 A OFB%S%E ) i1 12/ 3 1:07.56 7k (0.63)
6 oK VERE «\‘\XB;;}AE& /6 10/ 8 1:08.52 8k ( 0.68)
TR JEK L 53%% C /N6 11/ 7 1:09.62 7k (0.73)
8 J b FIRE /&‘7\35'\"3; S /N6 8/ 3 1:10.74 7k (0.69)
9 A SAS S 1 6/ 2 1:15.09 3k (0.71)
10 ‘A Bipk J S%S;Z\E)i /N6 4/°3  1:19.56 2k ( 0.76)
11 AR A#E Z?J;ZCZ%S S /N6 4/ 8 1:20.75 3k ( 0.86)
12 R ThE ﬁaaﬁ?{?&&a 1 4/ 4  1:22.09 Lk (0.72)
13 A &l «\“;33\";2&[5& /N6 3/ 4 1:28.66 ( 0.73)
14 &R 52 N7\4(/)'<’8; S /N6 3/ 1 1:30.34 ( 0.81)

WO Bk «%7@8; SS /N6 2/ 2 k&4 4 (————— )

OPN /NE  BHE K L &% A 3 tl 22/ 2 57.92 118%  ( 0.63)

OPN [I'F K% T Sms'%ta 1l 22/ 4 58. 11 10% ( 0.71)

OPN B fEAK r?ffﬁm fi1 o 21/ 8  59.87 104 ( 0.70)

OPN R 3T J Sggs'ﬁﬁ H1 19/ 8 1:01.85 9% ( 0.72)

OPN Jinfg  JahsH J SiZSi%JII /N5 16/ 2 1:02.68 10#% ( 0.66)
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2 ZHRZWG AR—Y O 5 Kk (25m) 3/8

HIH ;2024954 12H (H)
No.28 5B+ 100m BHH BALL—RRE

L 1M~12% >
IEfr K 4 B FHE KK B M

OPN i1l #5K BHS S 1 17/ 5 1:02.98 8k ( 0.63)
OPN =% M— ﬂiﬁﬁgéig 1 12/ 2 1:03.69 8tk ( 0.75)
OPN #RH Bk $5zjy§05'6§ 1 15/ 6 1:03.78 8tk ( 0.60)
OPN FRATE A=} J SBOS'IqZJII H1 16/ 1 1:03.79 8k ( 0.69)
OPN LBf ZRHH KLBO%BQ# Wl 16/ 6  1:04.04 8tk ( 0.69)
OPN #K  {HH S 03%9/% il 17/ 3 1:04.69 8tk ( 0.71)
OPN A HEI 77bxgg.§4él# Wil 13/ 4 1:04.79 8tk ( 0.70)
OPN 8 sl BEAER S S i1 15/ 7 1:04.81 8 ( 0.75)
OPN PREF [l J SB()SBE?Y;JII /N6 9/ 4 1:05.37 9% ( 0.68)
OPN ‘AH 2 *ﬁzjyéls'zg /N6 14/ 7 1:05.38 9% ( 0.66)
OPN %97 f&BE J Sgls'.ltotﬁ /N6 14/ 4 1:06.12 9% ( 0.64)
OPN A Bk M;ls%.?éﬂ% /N6 13/ 7 1:06.13 9k ( 0.63)
OPN fialVA & — ] *»Ei:gé'rsoé S 1 11/ 3 1:06.42 7#%  ( 0.83)
OPN [LIFH  GfH 7%%3;5??! /6 13/ 8 1:06.48 8k ( 0.63)
OPN /N HER M\ﬁ%}ﬁlma% 1 12/ 5 1:06.54 Tk (0.70)
OPN LA S W$#5;%§%3?% 1 10/ 6 1:06.99 Tk (0.49)
OPN HEE b2} /f}?iégiéé&ﬁ /N6 13/ 6 1:07.92 8tk ( 0.61)
OPN <ff& &K *5(/#325'7; H1 10/ 2 1:08.00 6% ( 0.56)
OPN 4 H:FH— A :Kf%%#k /6 11/ 6 1:08. 11 8k ( 0.69)
OPN Eil 41 A Igggi SC /N6 12/ 4 1:08.24 8tk ( 0.58)
OPN BCH  $k°F *Jﬁjtgé'r&g S /N6 9/ 2 1:08.41 8tk ( 0.80)
OPN %y (&& 7‘\/3;1%@1 /N6 11/ 2 1:08.60 8tk (0.71)
OPN #hfE AKX J sgzs'grm /N6 11/ 4 1:08. 61 8tk ( 0.70)
OPN #&%F K& KLB%%EI# 1 14/ 8 1:08.92 6% ( 0.70)
OPN %k JFERE Y %3?:"’471*@7 /N6 11/ 5 1:09.24 6% ( 0.60)
OPN JIl[ BEFH h4sf§;2§§é@% 1 9/ 6 1:09.56 6% ( 0.74)
OPN EHF SR A tf~?%;%gﬁi /N6 7/ 4 1:09.77 6tk ( 0.72)
OPN Ml 3 AW 1 12/ 1 1:09.92 6% ( 0.62)
OPN /IBR K ’Wég'%ﬁﬂ 1 10/ 4 1:10.51 58 ( 0.87)

H7JHEF . 5H12H 17:00
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HIH ;2024954 12H (H)
No.28 5B+ 100m BHH BALL—RRE
L 1M~12% >
B K 4 R FHE KK B M
OPN [ & AYE=Es NG 8/ 6 11.34 Tk (0.71)
OPN EHr & tf*?ﬁ;zéui /16 7/ 6 12.13 6% ( 0.65)
OPN H1JIl %% RS/7?4—'5§—~7<‘ NG 9/ 8 1:12.61 6% ( 0.60)
OPN i)l #&A =t %3-3%7935&.9% /N6 9/ 7 1:12.64 6k ( 0.64)
OPN s #f ok Myxgi(iﬁﬁ% NG 8/ 2 :12. 96 6% ( 0.79)
OPN JERH #HE Myxgi"iﬁz NG 8/ 5 113.12 4% (0.74)
OPN /INJ5LH &4 *ﬁzjiMS% /N6 7/ 7 1:13.99 6% ( 0.61)
OPN #iE  fiZe RS/7?4—'3£~7<‘ /N6 6/ 1 :14.25 6% ( 0.65)
OPN HJi K t*fgig S 1 6/ 7 :14.37 4% ( 0.68)
OPN #TH fitfH *Jﬁigg'ﬁoé S S| 4/ 5 :15.15 3tk ( 0.86)
OPN XJII J SSSS'IE?JJII NG 5/ 5 :15. 65 5% ( 0.62)
OPN fFiE %2 7528%@1 /N6 7/ 5 :17.23 5% ( 0.70)
OPN Jil ISk wa‘rdf;)i?észﬁﬂ /N6 5/ 2 :17.58 2% (0.71)
OPN Jnfg fdd J sgfézé}m /N6 5/ 1 118. 44 4% ( 0.76)
OPN /bR 2K KLBZE%EI# /N5 4/ 6 :20. 60 3k ( 0.51)
OPN ik  Z&Jr RS{?Z—%HX‘ /N6 4/ 7 :21. 41 3k ( 0.69)
No. 28 B8F 100m B B A L L—RRE;
L B~14F >
IEf K 4 B SHE KK B M
1 KA S HEH R4 3 27/ 6 54. 61 10#%  ( 0.67)
2 B KM {9}23568'3% 3 25/ 2 55. 83 9% ( 0.69)
3 ey K— J 5265';21:[5);2 i3 26/ 8 56.07 9% ( 0.67)
4 B B T s%s'%iwﬁ 2 25/ 7 56. 95 10#%  ( 0.72)
5 KB A ?iaﬂg“;ég 2 23/ 8 57.53 9k ( 0.59)
6 RARME LB Msts}\yﬁ F3 24/ 3 58. 09 8k ( 0.65)
TRA R J 5275'82% 2 20/ 7 58. 58 9% ( 0.75)
8 [ fik &Eaz%% 2 22/ 6 58. 82 9% ( 0.63)
9 Gk HA ?%EH%(I)JBJEH 2 20/ 5 58. 97 9% ( 0.77)
10 &K% fi /i?;;fltg SS 2 22/ 5 59. 44 9k ( 0.73)
H7JHEF . 5H12H 17:00
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HIH ;2024954 12H (H)
No.28 5B+ 100m BHH BALL—RRE
< 13~14E >
B K 4 R FHE KK B M
11 AfEEEZIT FHE H 4 f13 19/ 2 1:00.92 7% (0.70)
12 g K ?iﬁﬂzgﬁfé% 2 18/ 4  1:01.60 8tk ( 0.69)
13 AR#Ep ek g 52%55 C H3 18/ 6 1:01.65 7k (0.69)
14 R K f;%a%e%% H3 17/ 6 1:02.18 6% ( 0.58)
15 EH OFB%Z;SL':“E; ) 2 14/ 5 1:04.12 % (0.76)
16 ZHHH 1A J Sg(ggél% 2 12/ 8  1:04.15 7% ( 0.75)
17 3+ AEH SAS S 13 15/ 1 1:05.60 5% ( 0.70)
18 milf dr5 wﬂEﬁ#;g C 3 8/ 4 1:06.82 4% (0.69)
19 567 J&3F T 8318'8[%7Z H3 14/ 6 1:07.38 4% ( 0.67)
20 /NI Zetet N‘ng'\"l; S H2 12/ 6 1:08.17 56k ( 0.77)
21 PHiEg KA %;2@%5 S F2 10/ 5 1:09.67 4% ( 0.81)
22 diE A :zq:—g?}zé S 1 5/ 6 1:11.40 3k (0.77)
23 /0 JEHE AN 2 9/ 1 1:14.29 2% ( 0.81)
OPN JRABHMEA =} J SMS'EE@T H13 29/ 7 JOC52. 56 12#% ( 0.64)
OPN f3H &[] t“wfggﬂlﬂz 2 28/ 5 53. 45 10#%  ( 0.71)
OPN BLFf {28 Y 4 Aden i3 28/ 8  53.50 10#%  ( 0.59)
OPN &#Ef ZER J’EfiéﬁéjH H2 27/ 7 55. 01 10%%  ( 0.64)
OPN A[H]  HEHD J S%SAEET 3 26/ 3 55. 61 9% ( 0.69)
OPN #&7J7 fEA ﬁﬂ?(ﬁs’% 2 25/ 4 55. 98 10#%  ( 0.68)
OPN fiJ5l  # A 7rxf§>¥?77 th2 25/ 8 56. 81 10#% ( 0.68)
OPN B *ﬁzjims'gg 3 25/ 1 57.217 9k ( 0.67)
OPN Jngk BEK TMXZIZhj?I L 21/ 4 57.29 9% ( 0.65)
OPN JERE Rk MS?%Z?B% 2 24/ 6 57. 43 9% ( 0.62)
OPN #afkf & & }Wdfﬁ;%@ﬁ% 3 24/ 4 57.96 8tk ( 0.69)
OPN %% FRifc Rs;:'?;_x‘ e 24/ 2 58.17 9% ( 0.67)
OPN 4k # LA \% %22"5;—”@7 H3 23/ 7 58. 30 8fk ( 0.71)
OPN #rid i ;w\ﬁf;ga% 2 22/ 7 58. 37 9% ( 0.59)
OPN & HZK Msi:s%:éﬁ% 3 23/ 1 58. 81 8tk ( 0.68)
H7JHEF . 5H12H 17:00
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HIH ;2024954 12H (H)
No.28 5B+ 100m BHH BALL—RRE

< 13~14E >
B K 4 T B SHE KB B M

OPN /KHF 0 S C t2 21/ 5 59. 08 9k ( 0.66)
OPN JHL  f& A kzigﬁz.aﬁ 3 24/ 1 59. 14 8tk ( 0.67)
OPN (L Zhf RS/7‘28—'(Z—~7<‘ 1 18/ 5 59. 41 9k ( 0.83)
OPN /NI R2=f mfiga% 3 21/ 6 59. 44 8tk ( 0.59)
OPN ki i B S S 3 21/ 1 5956 8k ( 0.66)
OPN &4 5k t“j?%zi: 2 22/ 8 59. 56 8k ( 0.67)
OPN A1 (LIl K KLZ%ZEI# 2 21/ 2 :00. 11 8k ( 0.58)
OPN &y Ot RS/728—'7:§:~7<‘ 2 19/ 6 :00. 25 8tk ( 0.67)
OPN 44 sz By t“b—ZSF;;&IE);Z H3 19/ 4 1:00.38 7% (0.75)
OPN #5k =% b o 1 19/ 3 1:00.59 8%k ( 0.66)
OPN #H & ﬁiégs'oé 2 19/ 5 :00. 88 8tk ( 0.65)
OPN HHH 223k 7Mx2§.§4£|# 3 20/ 4 :01. 26 Tk (0.70)
OPN FgtH  Juk 77“/22%65%?1 3 20/ 8 :01. 27 Tk (0.83)
OPN #%  HIfH J S%SQFUJ 2 19/ 7 :01. 35 8tk ( 0.65)
OPN #14  Thifg Ha“?g@?gg C 3 16/ 4 :01. 89 Tk (0.77)
OPN R/ Mk VA B 12 18/ 7 1:01.89 8k ( 0.72)
OPN fliH H& t“ngS/?\tFﬂz 2 15/ 2 :01. 91 Tk (0.64)
OPN 17l 7% BATES S 3 17/ 7 1:02.16 64 ( 0.70)
OPN H3: ¥R Y LZ?:"%L—E 2 18/ 3 102. 33 7% (0.69)
OPN I## =16 RS/72948:6:—X‘ 2 17/ 8 :03. 43 Tk ( 0.66)
OPN #iAk M+ Rsffgoégi~x‘ 1 15/ 4 :03. 73 Tk (0.71)
OPN ‘AffE Bk 77@%43# 3 16/ 8 :03. 81 6% ( 0.71)
0PN FA 1K e LR 2 17/ 1 1:03.83 T (0.83)
OPN Mt RNt Rs;&£~7s‘ H12 16/ 3 :03. 85 Tk ( 0.69)
OPN AAFZE KRR J SS()Si()EE 2 18/ 1 :04. 26 Tk ( 0.66)
OPN /NEHEZ I tf%fgfﬂg S 2 13/ 3 :04. 35 6% ( 0.63)
OPN [LI[#] BH RS/7?048§—~7<‘ 3 15/ 3 104. 42 5% (0.71)
OPN =418 7 F4] mfiﬁa%—: 3 14/ 3 1:05.90 5%k ( 0.74)
OPN Tk 1Efd RS/fzg'—;:»—x‘ 2 15/ 8 :05. 97 58 ( 0.70)

H7JHEF . 5H12H 17:00
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2 ZHRZWG AR—Y O 5 Kk (25m) 7/8
HIH ;2024954 12H (H)

No.28 5B+ 100m BHH BALL—RRE

< 13~14E >

B K 4 R FHE KK B M

OPN {5 J5A& K AYE-JEE:E f3 13/ 2 1:06.25 5k ( 0.85)

OPN KJII R JS§§§E%J” 2 13/ 5 1:07.89 5% ( 0.66)

No.28 B-F 100m EHH 24 LL—RRBE

< 15FULE >

IEfr K 4 B FHE KB R M
1 A0 ik NS S w2 29/ 2 52.76 9% ( 0.67)
2 JEM VIR HE %23676% C 2 27/ 4 54. 40 9k ( 0.62)
3 JEHE A ¢$ﬁﬂ;sc =l 28/ 2 54. 46 9k ( 0.57)
4 wE WS :1{_25/@ S El o 26/ 4 54.96 9k (0.77)
5 i TEE «%72%612 SSs w2 26/ 5 55. 60 9% ( 0.75)
6 il B 8 52%8; C E3 26/ 7 55.90 8tk ( 0.64)
(e NBSH K2 26/ 6 5594 % ( 0.70)
8 FHIk = &Eﬂzzw:;% (i w1 25/ 5 56. 11 8k ( 0.65)
9 Hk BB MAEMS C 3 27/ 8 56. 46 8tk ( 0.66)
10 Il SR NBSH - &l 25/ 6  57.03 8% ( 0.70)
11 &1 L% ~ ~y2;°2§ C ml 20/ 2 57. 31 8tk ( 0.70)
12 fAH  Fkd «;%722%811 S S m3 23/ 5 58. 69 6% ( 0.71)
13 [A  FRik :rq:—%lg S w2 21/ 7 59. 95 6% ( 0.72)
14 16H  ®EE Iy Hz%gg C El 16/ 5 1:01.96 6% ( 0.60)
15 KIF HHA 2k @3 18/ 8 1:03.54 4% ( 0.67)
16 ;9 A 535S S @3 19/ 1 1:03.97 1% ( 0.80)

OPN ik Kk %%%33%80 K4 29/ 4 50. 93 9% ( 0.63)

OPN i A& ?%S%%%k K1 29/ 5 50. 96 10#% ( 0.61)

OPN 381 i S K1 29/3  51.66 104% ( 0.62)

OPN Jgk HESE ?fé%%%jt K1 29/ 8 51.87 10#% ( 0.65)

OPN 221 gl %%%2;(63 K2 29/ 1 52.82 8tk ( 0.70)

OPN HHmH @ w*ﬁf§j€%§ m1 29/ 6 52.85 10#% ( 0.65)

OPN T/ 1EAD ?%ﬁ%ﬁﬁ%k K1 28/ 6 53. 11 9k ( 0.71)

OPN %~ H & wwig%za%‘: 3 27/ 3 53.18 10#%  ( 0.66)

HAOBRME: 5H12H 17:00
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2 ZHRZWG AR—Y O 5 Kk (25m) 8/8

HIH ;2024954 12H (H)
No.28 5B+ 100m BHH BALL—RRE

< 15t >
B K 4 B FHE KK B M

OPN BAlF %% PRI ON K1 28/ 1 53.29 9k ( 0.64)
OPN R (EHE ?%ﬁ;ﬁ%jﬁ K1 27/ 2 53. 59 9% ( 0.62)
OPN a4 fil K 1%#‘/22%89# El o 28/ 4 53. 60 9k ( 0.58)
OPN #AF  Z+ A K1 271/ 1  53.89 ok (0.72)
OPN 1EjE  IEAl] %%iﬁggtgg K3 28/ 3 53. 91 8fk ( 0.65)
OPN H#yL b)) \Y kggﬁ"?;%é? w3 27/ 5 53.99 9% ( 0.58)
OPN 7k B {22 K B t“»—ZBF%OFm w2 28/ 1 54. 04 9k  ( 0.74)
OPN F.JI[ kit A J S%S'gtfg)ll ml 26/ 2 56. 62 8tk ( 0.61)
OPN #k & ’z‘/b%?%?}}l\l B2 24/ 8 56.99 Tk (0.72)
OPN —Af Sk MS(ZESSQES?B% El 23/ 2 57. 20 8k ( 0.66)
OPN —j# K A 12%7;) SC w1l 25/ 3 57. 31 8tk ( 0.77)
OPN JEi% Bk 1:473745; S w1l 23/3 57.49 8tk ( 0.70)
OPN Rl 1&4h tﬁg?%% S 2 24/ 7 57.52 8tk ( 0.69)
OPN P& Bk J 5275'5%3% w1 23/ 6 58. 89 % ( 0.66)
OPN /M2 ZEK M\ﬁf;é%% w3 24/ 5 59. 08 6% ( 0.69)
OPN /MK Hisg w%ﬁfg%iia 3 22/ 3 59. 99 6% ( 0.67)
OPN &M fFhk 7Mx2§§1§|# w3 21/ 3 1:00.26 6% ( 0.60)
OPN ji¥%H itz T wwfi}ﬁ?rhﬁ Bl 20/ 3 :00. 51 6% ( 0.77)
OPN HifH K J SZ%%UJ 17/ 2 :02. 87 5k ( 0.68)
OPN EEF ZEfh J SiZS%E = 14/ 2 :04. 08 58 ( 0.68)

H7JHEF . 5H12H 17:00



